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Instructions :

ENGLISH VERSION

(1) All questions are compulsory.
(2) Marks are indicated on right side.

1  Explain : Theory of Run. 20
OR
1 Draw np-chart : 20
No. 1234151617189 ([10]11]12
No. of Defective: |25 |47 |23 124 (24 (3039 (3235404522
n=250.
2 Explain components of time series. 20
OR
2 Fit straight line equation to the following data : 20
Year: | 2000 | 2001 | 2002 | 2003 | 2005
Sales: | 10 20 30 50 40
3  Explain elasticity of Demand and Supply. 15
OR
3 A monopolist produced two types of items. Its demand and 15
combined cost function are as below :
p=40-5x, ¢=30-3y, c =(x+y)* +2)?
Find x, y, p and ¢, for maximum profit, also find maxi profit.
4  Explain : Total utility, marginal utility and defferent curve. 15
OR
4  For Demand function z =xy and cost function c=6x+8y =10, 15

obtain production to that maximum profit.
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